CABLE ANALYSIS
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MASTS ARE SUPPORTING PIERS WHICH
SUPPORTS THE CABLES AND TRANSFER
REACTION OF CABLED TO GROUND

TYPES OF PERIMETER SUPPORT







3. A stee] back-stay cable in 3 suspended roof structure 13 10-m lone and supports a total factered tension
force Trof 1400 kN. (Note that the tensile strength of stee] cables ts typically more than 900 AMPa). Without
considerme the connections, determing the minimum dimension d of a built-up cross sectien (sec below)

that would be required to replace the cable and be easy for etectors to handle. Which optien would you
recommend and why?
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Cable subjected to a uniform distributed load

0 !/V-here and what is

e max tension

1 Tis max when x=L

w I’
F, =_*
1 op




S TS ONLINE ACARSHE

.

‘ I ! GI! - g? Tsmn.li:‘igcﬁafiemy.in

join us take online courses and |
Achieve your Dream Job :

e = e e = o
p a5 h
|-1- | || | v.h LY - e N
=N § - 1

JOB ORIENTED COURSES

Quantity

Surveying Course

REGISTER NOW

(L)



